EE3610 Signals and Systems Fall 2011
Homework No. 2 Solution

1. (20%)

y[n]=x[n]*h[n]= > x[k]-h[n—k]= > u[k —4]-h[n-K]

k=—o0 k=—o0

yin] =Y. hin k]

Evaluation the above summation:

For n<4: y[n]=0

For n=4: y[n]=h[0]=1

For n=5: y[n]=h[L]+h[0]=2

For n=6: y[n]=h[2]+h[1]+h[0] =3

For n=7: y[n]=h[3]+h[2]+ h[1]+h[0] = 4

For n=8: y[n]=h[4]+h[3]+h[2]+ h[1]+ h[0] = 2

For n>9: y[n]= h[5]+ h[4]+h[3]+ h[2]+ h[L]+ h[0] = O

1)  (30%) x[n]=(-1)"(u[n]-u[n-5]) and h[n]=u[n+2].
n+2<0, n<-2,w,[k]=0, y[n]=0
0<n+2<4, -2<n<2, w,[k]=(-1)", 0<k<n+2

1, nisodd
0, niseven

TUDIHEIS]
4a<n+2,2<n, w[k]=(-1)", 0<k<4

y[n] - Zizo(_l)k =1
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(20%)

y(t) = 2t°[u(t +1) —u(t —D]=*2u(t + 2).
Fort+2<-1, t<-3,y(t)=0.
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